

**BID2022-04 FURNISH AND DELIVERY F.O.B. OF HYMAX AND HYMAX 2 COUPLINGS FOR THE CITY OF TRENTON, DPT OF WATER AND SEWER  
BIDS OPENED 1/11/2022 AT 11:00AM**

BID2022-04 FURNISH AND DELIVERY F.O.B. OF HYMAX AND HYMAX 2 COUPLINGS FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS CONSTRUCTION AND MAINTENANCE OFFICE					
NUMBER OF RESPONDENTS:	5				
NAME OF BIDDER	FERGUSON WATER WORKS	RARITAN GROUP, INC.	CORE AND MAIN LP	CAPITOL SUPPLY CONSTRUCTION PRODUCTS, INC.	ATLANTIC PLUMBING SUPPLY
ADDRESS	190 OBERLIN AVENUE, N.	301 MEADOW ROAD	5142 WEST HURLEY POND ROAD	149 OLD TURNPIKE ROAD	702 JOLINE AVENUE
CITY, STATE, ZIP	LAKWOOD, NJ 08701	EDISON, NJ 08817	FARMINGDALE, NJ 07727	WAYNE, NJ 07480	LONG BRANCH, NJ 07740
CONTACT NAME	JOHN MASTROGIOVANNI	MIRO GIETKA	EDWARD ORTLIEB	HUGH D. MALLEY	JEFFERY FRALLER
TELEPHONE	848-992-2132	732-985-5000	732-938-6370	973-627-5200	732-229-0334
FAX	732-202-5707	732-985-5002	732-938-9171	973-627-5216	732-229-7948
E-MAIL	<a href="mailto:JOHN.MASTROGIOVANNI@FERGUSON.COM">JOHN.MASTROGIOVANNI@FERGUSON.COM</a>	<a href="mailto:MIRO@RARITANGROUP.COM">MIRO@RARITANGROUP.COM</a>	<a href="mailto:ED.ORTLIEB@COREANDM.COM">ED.ORTLIEB@COREANDM.COM</a>	<a href="mailto:HUGHMALLEY@AOL.COM">HUGHMALLEY@AOL.COM</a>	<a href="mailto:JFRALLER@GOATLANTIC.COM">JFRALLER@GOATLANTIC.COM</a>
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A	N/A	N/A	N/A
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EIC	CERT.#33467 EXP. 01/15/2026	CERT.#39661 EXP. 04/15/2024	REQUIRED FROM VENDOR PRIOR TO AWARD	CERT.#33163 EXP. 11/15/2023	CERT.#7989 EXP. 05/15/2024
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES	YES
THREE (3) REFERENCES	N/A	N/A	INCLUDED	INCLUDED	N/A
W-9	N/A	N/A	N/A	N/A	N/A
TOTAL AMOUNT FOR ITEMS#1-6	\$48,085.08 (SEE ATTACHED BREAKDOWN OF ITEMS)	\$48,744.96 (SEE ATTACHED BREAKDOWN OF ITEMS)	\$51,108.00 (SEE ATTACHED BREAKDOWN OF ITEMS)	\$51,408.00 (SEE ATTACHED BREAKDOWN OF ITEMS)	\$52,018.20 (SEE ATTACHED BREAKDOWN OF ITEMS)
EXCEPTIONS (IF ANY)	NONE	NONE	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE	NONE	NONE

Trenton Water Works  
 Construction & Maintenance Office  
 Calendar Year 2022 – HYMAX & HYMAX 2 Coupling Contract

Ferguson  
 1

**PROPOSAL:**

The undersigned proposes to furnish and deliver HYMAX & HYMAX 2 Coupling materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

**HYMAX & HYMAX 2 COUPLING (4-Inch to 16-Inch) CONTRACT QUOTE:**

Item #	Part #	Material Description	Unit	Qty	Unit Price	Total Price
1	K86054010816	4" HYMAX 2 REP Coupling (OD: 4.25" - 5.63")	each	12	173.05	2,076.60
2	K86054016316	6" HYMAX 2 REP Coupling (OD: 6.42" - 7.68")	each	48	229.86	11,033.28
3	K86054021716	8" HYMAX 2 REP Coupling (OD: 8.54" - 9.84")	each	48	259.00	12,432.00
4	K86054027216	10" HYMAX 2 REP Coupling (OD: 10.70" - 12.00")	each	12	333.00	3,996.00
5	K86054033416	12" HYMAX 2 OS REP Coupling (OD: 13.15" - 14.41")	each	12	470.52	5,646.24
6	K86054043416P	16" HYMAX REP Coupling (OD: 17.10" - 19.20")	each	12	1,075.08	12,900.96
Grand Total >>						<u>49,085.08</u>

Raritan I  
D

Trenton Water Works  
Construction & Maintenance Office  
Calendar Year 2022 – HYMAX & HYMAX 2 Coupling Contract

**PROPOSAL:**

The undersigned proposes to furnish and deliver HYMAX & HYMAX 2 Coupling materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

**HYMAX & HYMAX 2 COUPLING (4-Inch to 16-Inch) CONTRACT QUOTE:**

Item #	Part #	Material Description	Unit	Qty	Unit Price	Total Price
1	K86054010816	4" HYMAX 2 REP Coupling (OD: 4.25" - 5.63")	each	12	175.89	2,110.08
2	K86054016316	6" HYMAX 2 REP Coupling (OD: 6.42" - 7.68")	each	48	232.93	11,180.64
3	K86054021716	8" HYMAX 2 REP Coupling (OD: 8.54" - 9.84")	each	48	262.99	12,623.52
4	K86054027216	10" HYMAX 2 REP Coupling (OD: 10.70" - 12.00")	each	12	334.00	4,008.00
5	K86054033416	12" HYMAX 2 OS REP Coupling (OD: 13.15" - 14.41")	each	12	477.73	5,732.76
6	K86054043416P	16" HYMAX REP Coupling (OD: 17.10" - 19.20")	each	12	1,088.18	13,058.16
Grand Total >>						48,744.96

Trenton Water Works  
Construction & Maintenance Office  
Calendar Year 2022 – HYMAX & HYMAX 2 Coupling Contract

Core \$  
Main  
3

**PROPOSAL:**

The undersigned proposes to furnish and deliver HYMAX & HYMAX 2 Coupling materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

**HYMAX & HYMAX 2 COUPLING (4-Inch to 16-Inch) CONTRACT QUOTE:**

Item #	Part #	Material Description	Unit	Qty	Unit Price	Total Price
1	K86054010816	4" HYMAX 2 REP Coupling (OD: 4.25" - 5.63")	each	12	184.00	2,208.00
2	K86054016316	6" HYMAX 2 REP Coupling (OD: 6.42" - 7.68")	each	48	244.00	11,712.00
3	K86054021716	8" HYMAX 2 REP Coupling (OD: 8.54" - 9.84")	each	48	274.00	13,152.00
4	K86054027216	10" HYMAX 2 REP Coupling (OD: 10.70" - 12.00")	each	12	354.00	4,248.00
5	K86054033416	12" HYMAX 2 OS REP Coupling (OD: 13.15" - 14.41")	each	12	502.00	6,024.00
6	K86054043416P	16" HYMAX REP Coupling (OD: 17.10" - 19.20")	each	12	1,147.00	13,764.00
Grand Total >>						51,108.00

**Trenton Water Works**  
**Construction & Maintenance Office**  
**Calendar Year 2022 – HYMAX & HYMAX 2 Coupling Contract**

*Capitol*  
*4*

**PROPOSAL:**

The undersigned proposes to furnish and deliver HYMAX & HYMAX 2 Coupling materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

**HYMAX & HYMAX 2 COUPLING (4-Inch to 16-Inch) CONTRACT QUOTE:**

Item #	Part #	Material Description	Unit	Qty	Unit Price	Total Price
1	K86054010816	4" HYMAX 2 REP Coupling (OD: 4.25" - 5.63")	each	12	185.00	2220 -
2	K86054016316	6" HYMAX 2 REP Coupling (OD: 6.42" - 7.68")	each	48	245.00	11760.00
3	K86054021716	8" HYMAX 2 REP Coupling (OD: 8.54" - 9.84")	each	48	277.00	13296.00
4	K86054027216	10" HYMAX 2 REP Coupling (OD: 10.70" - 12.00")	each	12	356.00	4272.00
5	K86054033416	12" HYMAX 2 OS REP Coupling (OD: 13.15" - 14.41")	each	12	503.00	6036.00
6	K86054043416P	16" HYMAX REP Coupling (OD: 17.10" - 19.20")	each	12	1152.00	13824.00
						Grand Total <del>\$514 08.00</del>

Trenton Water Works  
 Construction & Maintenance Office  
 Calendar Year 2022 – HYMAX & HYMAX 2 Coupling Contract

*Atlantic  
 Plumbings  
 6*

**PROPOSAL:**

The undersigned proposes to furnish and deliver HYMAX & HYMAX 2 Coupling materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

**HYMAX & HYMAX 2 COUPLING (4-Inch to 16-Inch) CONTRACT QUOTE:**

Item #	Part #	Material Description	Unit	Qty	Unit Price	Total Price
1	K86054010816	4" HYMAX 2 REP Coupling (OD: 4.25" - 5.63")	each	12	187.36	2,248.32
2	K86054016316	6" HYMAX 2 REP Coupling (OD: 6.42" - 7.68")	each	48	248.12	11,909.76
3	K86054021716	8" HYMAX 2 REP Coupling (OD: 8.54" - 9.84")	each	48	280.17	13,448.16
4	K86054027216	10" HYMAX 2 REP Coupling (OD: 10.70" - 12.00")	each	12	360.38	4,324.56
5	K86054033416	12" HYMAX 2 OS REP Coupling (OD: 13.15" - 14.41")	each	12	508.89	6,106.68
6	K86054043416P	16" HYMAX REP Coupling (OD: 17.10" - 19.20")	each	12	1,165.06	13,980.72
Grand Total >>						52,018.20